
Australian Pump Industries Pty Ltd  |  7 Gladstone Road, Castle Hill NSW 2154  |  P: 02 8865 3500 |  F: 02 9894 4240  |  www.aussiepumps.com.au 

  GMP/NOV21/1 

AUSSIE SPARES DIAGRAM & PARTS LIST 

All prices EXCLUDE GST 

AUSSIE GMP PUMPS:  B2KQ-A WITH ATEX MOTOR  
CAT EA9D, 2141 

Position Part  
Number 

Description Qty List 
price 

01a 5571 PUMP CASING B2KQ−A 1 $870 

01b 5854 VALVE BODY B2KQ−A 1 $166 

01c H006 COMPLETE CHECK VALVE 1 $196 

01d 9047 GASKET FOR TAP 1" 1 $6 

01e 6213 CONICAL TAP 1" GAS 1 $8 

01f 6209 CONICAL TAP 1/4" GAS 1 $7 

01g P079 SS SCREW M8x20 6 $4 

02 8612 
IMPELLER B2KQ−A 1,5kW shaft with 
key 

  $267 

03 5813 SUPPORT B 2615/5 1 $370 

04 F229 
EXTENSION SHAFT MEC90 AISI 316 
with key 

1 $481 

05 7709 
COUNTERFACE S 5645 in Viton/
Allumina 

1 $108 

06 7710 MECH.SEAL 16−32−13 carbon/viton 1 $65 

07 H547 VITON GASKET sp.1 1 $93 

Position Part  
Number 

Description Qty List 
price 

08   Protection 2   

09   Screw M4x8 Uni 8112 4   

10 L800 Washer D.8x24x2   DIN 9021 1 $3 

11 7103 CAP NUT M 8x1,5 IN BRASS   DIN 1587 1 $6 

12 6261 OEB SCREW M 10x20   UNI 5931 4 $4 

13 5020 T.E. SCREW M 10X35   UNI 5739 4 $3 

14 6170 ELAST. WASHER D.10.5x21x2 UNI 6592 4   

15 7942 ZINC NUT M 10x1.5  5588 1 $4 

16   Screw UNI 5739 M8x30 4   

17   Washer 8.4x17x1.6   UNI 6592 4   

18 5036 WASHER D.8.2x14x0.8 UNI 8842 4   

19 6305 NUT M8x1.25  UNI 5588 4 $2 

20 5142 GRUB SCREW M8x10   UNI 5927 2 $4 

21 F156 INOX KEY B 4x4x16 (AISI 316) UNI 6604 1 $6 

23 5562 
MOTORE ADF kW 1,5 (THREE PHASE) 
400v. 90−2P−B3/B5 (2141) 

1 $1,214 

23 F675 
MOTORE ADF kW 1,5 (SINGLE PHASE) 
230v. 90−2P−B3/B5 (AE9D) 

1 $3,286 


